A STORY OF UNITS Lesson 13 Exit Ticket m

Name Date

1. Round to the nearest ten. Use the number line to model your thinking.
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2. Bobby rounds 603 to the nearest ten. He says itis 610. Is he correct? Why or why not? Use a number
line and words to explain your answer.

003 is between LD and GlO, (05 is haHway between
dhose tens. Since 63 is below (05, H roonds o

. 4 bo5 600, not 610, So, Bobby is incarrect,
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EUREKA Lesson 13: Round two- and three-digit numbers to the nearest ten on the vertical 167

~ ber line.
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